WHAT DID THE COLLEGE FRESHMAN WHO
FAILED HIS FIRST CALCULUS TEST HAVE IN
COMMON WITH THE COLLEGE FRESHMAN
WHO WAS FINED FOR DRIVING
60 MI/HR IN A 30 MI/HR ZONE?

Match each expression with its limit.
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What did one math book say to the other?
A TILIWE T ore 1 Eoss |
Yon |21 I“BO1°1H [ER | |
F - —r i ;
K ) ‘: '
i Sl W - YL~ | il ¢ \___‘

Directions: Evaluate each limit and find your answer in one of the answer columns. Notice
the letters next to the answer. Write these letters in the box that has the same letter

as the exercise. Put the letters together to form words and y

ou will find out the answer
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WHAT DID THE ASYMPTOTE SAY TO
THE REMOVABLE DISCONTINUITY?
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Complete the table below for f(x).
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29) Give the right hand limit as x approaches —57 — 2

a0y Give the left hand limit as x approaches 5?7 - Z&

a1) For what integer value in the above table is f(x) continuous? l

az) f(x) has a removable discontinuity (hole) when the x value is 3

and when the x value is (?). =2_

33 f(x) is not defined at the vertical asymptote x = (?). 2-
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